Yearl - subtraction Zluency easier.

Subtraction Crossing 10 1

Subtraction Crossing 10 1

1a. Solve the calculation below using the
ten frames,
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1b. Solve the calculation below using the
ten frames.
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2a. Use the part-whole model to solve the
calculation below.
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Use the number line to help with the
partitioning to 10,

2b. Use the part-whole model to solve the
calculation below.
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Use the number line to help with the
partitioning to 10.

T 11
12 13 14 15 14

1T T 1T
6 7 8 9% 10 11

W

e 1

T 1T 1
10 11 12 13

T T T 1T T
3 4 5 & 7 8 9

3a. Complete the calculation using the
number line below.

3b. Complete the calculation using the
number line below.
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